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[EFE EFH]

ERX 53 SEEE | THEYN | SRER| AFEY | SEEXR
—R&ER 95 2,045 322 93| 215 %
RFAFLET AN HER 5 125 19 7] 250 f&
CEL 100 2170 341 100 21.7 15
[P EFHR]

ABRIX 53 SETEE | THER | SBEHR | AFEY | TREE
FRHEEE R (FEERH) 50 48 48 48 1.0 15
FRIEBEELER (NFH]) 75 100 90 90 1.3 15
—i&:E R (RTH) 120 238 218 131 20 f&
— & ik (R H) 32 48 32 14 1.5 &
REAFHET AN RAER (FIED) 15 176 152 13 11.7 15
REAFHET AN RAER (PE) 5 22 20 5 4.4 15
RFAFHBT AN AER (BRH) 3 11 10 1 3.7 f&
CEL 300 643 570 302 2.1 &
[3EFER EanERFH]

ABRIX 53 SETEE | THEYR | SBEHR | AFEY | TREE
FAHE R I E IR (b EAR ) 5 8 8 8 1.6 13
FIRIEERLE R (NFH]) 5 10 9 9 20 f&
—i&:E R (RTHR) 13 32 29 7 2.5 &
— k& ik (R H) 4 10 7 5 25 &
RFAFHBET AN AER RTH) 3 33 27 0f 11.0 &
RFAFHBT AN AZER (PH) =14 6 6 2
REAFZHLET AN RER (R =14 0 0 0

BEt 30 99 86 31 3.3 &
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